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xRE BAFHET X2 (FH13) t=5cm| 2 164.22
TR FiIEE AR A (M-30) t=10cm | 2 164.22
TR B4ERARC-30) t=10cm m? 164.22
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Al = BERE | BERE | PRt | R & | THRI @ B | K S | @m B | K & (FuRs @ B
NO.O 0.00 0.00 0.00 2.23 2.23 2.23
+15.0| 15.00 | 15.00 | 15.00 257 | 2400 | 36.00 257 | 2400 | 36.00 257 | 2400 | 36.00
+35.0| 20.00 | 20.00 | 20.00 242 | 2495 | 49.90 242 | 2495 | 49.90 242 | 2495 | 49.90
+55.0| 20.00 | 20.00 | 20.00 250 | 2.460 | 49.20 250 | 2460 | 49.20 250 | 2460 | 49.20
+66.6| 11.60 | 11.60 | 11.60 252 | 2510 | 29.12 252 | 2510 | 29.12 252 | 2510 | 29.12
& i 66.60 | 66.60 | 66.60 164.22 164.22 164.22




